HENEREREHES
SH3F10H25H (AH)

Mt

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 23% T 1,789.9 400 34
THI 496.7 240 20
JUH LA 189.1 1,530 120
RSHI LA 13.7 2,500 700
LSHLA 301.2 585 20
TFELASH LA 445.2 1,230 201
ZRHLA 655.7 361 20
IALA 703.8 729 350
%55 99.8 150 20
FAATLY 176.3 1,410 109
TYUAVTAFA 415.4 400 20
F7> 07 2,732.5 680 29
HFHS 216.2 45 20
TLINTN 31.6 226 20
ALY 42.8 4,779 501
Ve INY = 67.5| 26,700 9,740 |5z’ >
HHZHA 111.6 255 20
AL A 59.5 189 20
AX79d 842.8 829 20
sH= 51.8 6,200 300
GHH 58.5| 12,890 2,239 [
TYRSERF 83.8 263 100

It 9,585.4




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SHEE 23 254 hTEINA 89.0 469 219
ZILAA ST 1,649.7 510 211
ZILAA 58 755.0 4,610 1,900 ﬁf”“/s
1 c/s
YUAH 3,446.3 539 101
UL H5E 280.0 3,600 2,399 ﬁf‘%”g
1 c/s
=247 327.1 859 409
T+E47 6,400.3 513 39
FEF~< T 30.2 1,560 800
aitus 20,824.3




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &

BERRE 32& |TJU 543.4 150 20

_~ 27.6 373 100

2O0F 24.4 333 101

HFHEIS 34.6 50 20

> up YAVIN 116.9 2,200 1,269

S5 468.8 1,200 800

XXF 762.0 700 239

AFIH 589.2 2,420 200
BHE 6% HRwFHA 1,418.7 380 220
hT 41 EXTVYRS 278.5 129 70

= 4,264.1




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
K 232 =X47 26.2 800 750
BEEXRE 328 (W51 28.2 1,500 600
AXF 721.4 750 550
iEHE 152 NSO 1,377.7 2,800 1,000
mUtE 38 XXF 51.4 700 500
#}]D 41 E=5X 944 .4 2,500 600
ho 18 <73 15.9 1,700 1,200
h 41 <A 2,233.5 1,500 1,000
aituE 5,398.7




